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3) An open-loop transfer function G(s) of a negative unity feedback control system is
given as

Gls) = K(s+1)
s(s =1)(s* +145+58)

(a) Draw the root-locus plot of the feedback system and find asymptotes and angles,

crossing frequencies and K, departure angles of loci from complex poles,
breaking and arrival points and K. (20%)

(b) What is the range of K for the closed-loop system to be stable? (5%)

4) The open-loop transfer function G(s) of a negative unity feedback system is

G(s) = 6.28(s + 23)(s +10)

(a) Draw the Bode plot for the closed-loop control system. (15%)
(b) Mark and estimate gain and phase margin from the plot in (a). (10%)




